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X f(0)=-1<0,f(1)=n-1>0(""n>2)
FrO B S i f (x) 76 (0,)) WA e — T A,

b) FAVxe(0,1)hikn>2, f'(x)=mx""+(n-1)x""++2x+1>0

FEA f (x) 2 [0,1] Eeaiigin, £ (x)#&[0,1] EEE A E— AT A.
L, R x" +x"" 4+ x—1= 076 (0,1) Fan A ME—[E A

(2) ﬁiﬁli_r}gxn FAE. WiZME—F RN X, .

(E: x, ZEnfHRNE, x, IR+ +x-1=00H, x, ZHFEx"+x +x° +x-1=0 1.,
Tl {x, } —H5. )

2 kA, Vn>2,0<x <1, EXBIHR.

by X X X 4x,  — 1= 0 X X X X, —1>0

iix! +x 7+t +x, —1=0, Fiblx, <x, ., BDEGIERERED.

PRI { x, } ARBRAELE -

(3) Klimx,

n—0

R n-1 2 _
SXA+x At x, +x, —1=0

n

XX T ek X, + 1= 2 (x;’+x2’1+---+xj+xn+1)(xn—1): 2(xn—1)

n

B (! = 1) =2(x, =1)= lim (x;" =1)=1im 2 (x, - 1)

n
n—>0 n—»0

. 1
wlimx! =0
n—o0

.'.0—1=2(1imxn—1):> limx, =%o

n—>0 n—>0
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	10．解：（1），            ---
	又，
	由得
	（2）设切点为，则切线斜率
	切线方程为，                  
	令得
	从而切线与坐标轴夹成的面积为，     ----
	，令

